MTH 202: Quiz 3 Name: k%}l
Time: 30 minutes

Use of notes, note cards, cellphones, PDAs or symbolic
calculators are not allowed during the quiz.

(1) Find the equation of the tangent plane and the parametric equations of the normal
line to z = In /22 + y? at the point (—1,0,0). Show all the work as you have
learned in the class.
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(2) Use Lagrange Multiplier method to find the maximum and minimum values of
f(z,y) = 42 + y® subject to the constraint 222 4+ y2 = 1. Show all the work as

you have learned in the class.
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(3) Find the volume of the solid in the first octant bounded above by the paraboloid
z = 22 + 332, below the plane 2 = 0 and laterally by the planes y = 2 and y = .
Show all the work including the sketch of the solid and the region R as you have learned

in the class. |
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(4) Find the area of the portion of the surface 22 = 4x2 4+ 43 that is above the region
in the first quadrant inside the curve 22 + 2% = 1. Sketch the surface and the region
R. Show all the work including the sketch of the surface and the region R as you have
learned in the class.
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